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T %= 4 BRI SR B EhEEE B B IO~ AR TCR R B R i kT e e T THX5y ERTH
T == f 5l HAL | & 4 ) = oBl N ER

THRENREG & = 1 370, 848, 976

(N ekt OB EEt E5)) ( 0)

R R RS T R i T = 1 349,291,279 | FHERIEARA LA T (77 - &E)  [RE] 1 m
PRERIAAE A 2 S T (T - 3 - s (%] 1
FREEIEAR A ST T (7T F - ) [1&H] 1 M
PRERIAAE BB T (7T 7 -« 26 - E)  [&) 2 T
L— & S (2 > HEB) 64. 00KPHUT T (48 [# ] 1 A
L — 2 X E MR (2 2 Y¥5) 66. 42KPHU T (&#E) [#% ] YO 7]
L— & ZUHE A e (LB ER) 64. 00KPHAT T (G2kigy) [#&/] 1 &
L— & Sl A e (LER ) 66. 42KPHUAT T GiAE4) 1 &
WEREBETRNS T e Z A 7 a (&E) [KiH] 251 &
WEREBETRMNS T a2 A4 7o (e [KiH] 23 S
WEREBETRMNS T e Z A 7 c (&E) [KH] 20 K
WEREBETRMNS T a2 A 7d (e [KH] 25 K
WEREBETRMNS T B Z A 7 e —1 (&WE) %] 14 3
WEREBETRMNS T B E A 7 e —2 (&WE) [#R] 29 K
WEREBETRMNS T e s A 7 f (e [KH] 67 K
WEREBETRMNS T BemE A 7 e —1 (&WE) [#i] 124 %
WEREBETRMNS T Beme A 7 g —2 (&WE) [#i] 23 K
WEREBETRMNS T e 2 A4 7h (e [KiH] 20 X
BARAZAA I T W3 4 9 (&%E) 1 M
BEAREAT LT 2P50AF,/ 20AT 1 &
BABAZREAT T 3P5O0AF,/ 20AT 1 &
BMSRATT. 3P50AF, / 50AT 1 A
FEMET. HERIEEELT (&) 110 3
FEREL kA A SR
FEMET PikEIEAE B (12 2 K
AT L— 2 XEmaEE (L) 1A
T L— 2 XEmRaEE UEEE)  [%R] 1 K
BT E1—FP30 (1) 34 m
4T E1—-FP30 (1) [#%/) 520 m
4T E1—-FP30 (2) [#%/] 6 m
BT E1—FP30 (3) 4 m
4T E1—-FP30 (3) [#%/] 3 m
B%T B2-G28 (1) [#®[RH] 10 m
F%T B2—SC25 (1) 106 m
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AT R E L FEET B2—-SC25 (1) [#%M] 4,941 m
BT B2—SC25 (2) 222 m
BT B2—SC25 (3) 23 m
BT B2—SC40 (1) 103 m
B4 T B2—SC40 (1) [#%/) 176 m
BET T2-G28 (1) [#®[RH] 4 m
BT T2—-SC25 (1) 6 m
ST T2—-SC25 (1) [/ 606 m
BT G28 (1) AF LAY R [#%F] 6 m
FET G28 (1) #FaEamfttay ki) 24 m
BT F2WP30 (1) [#R] 2 m
BT F2WP30 (1) A7 LAY R [%HM] 15 m
BT F2WP38 (1) 30 (1) AFrLAANUR [#&RE] 11 m
N RA—nLT EA—C1 1 5
X7 +OIT FP30 (1) 1
X7 AT FP30 (1) [#%M] 6
X7 +OIT FP30 (2) 1
X7 +OIT FP30 (3) 1
EIHERERRE T MK-—D 2
a7 U— RO T IFEI000XIES100 (8HEE)  [#KE] 20
gy 7 Y—NEo0D T 200X200X500 (I5EE) [#%R] 2
TRy 7 AT, BAEH 150X 150X 150 (WP) [#2R] 2
TRy 7 ARMFT. BAMEEH 500X 200X 200 (WP) 5
TRy 7 AAT. BAMNEH 500X200X200(WP) [#R1] 2
TRy 7 AT, BANEH 300X200X200(WP) [#R1] 2
TRy 7 ARMF T BAMEEH 300X 300X 200 (WP) 1

TRy 7 AT, BANEH 300X300X200(WP) [#R1] 2
BT EBAVEHN VVR3. 5sq—2C 257
BT BAMEN VVR3. 5sq—2C [%H] 65
BT EBAMEAN VVR3. 5sq—3C [#%&H] 135
BT BAMEN VVR3. 5sq—4C [%H] 2,095
BT BAMEN VVRS5. 5sq—2C [%H] 450
BT BAVEN VVRS8s q—2C [#%HR] 1,149
BT EBAVEHN VVR14sq—2C [®#] 1, 688
BT BAVEHN VVR22s q—2C [®H] 191

BT EBAVEHN VVR38sq—2C [®H] 104
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TR R RS T R i T BT BAMEN 1V3. 5sgq 257 m
BofR T RAMEN 1V 3. 5sq [#&H] 5,634 m
BT EBAMEN CCP—APO. 65—10P 340 m
BT BAMEN CCP—APO. 65—10P [#%HR] 246 m
B T RAMVEIN CCP-APO. 65-10P (BE=mE &) [#&E] 14 m
BT BAFPEN VVR3. 5sq—2C 43 m
BT BAFPEN VVR3. 5sq—2C [#%M] 130 m
BT BAFPEN VVR3. 5sq—3C [%H] 11 m
BT BAFPEN VVR3. 5sq—4C [#%M] 307 m
BT BAFPEN VVR14sq—2C [#&R] 30 m
BT BAFPEN 1V3. 5sq 43 m
BT BAFPEN 1V3. 5sq [#%H] 469 m
BT BAIFPEN CCP—APO. 65—10P 6 m
BT BAIFPEN CCP—APO. 65—10P [%H] 41 m
BT B4y VVRS3. 5sq—2C 5 m
BT B4y VVRS3. 5sq—4C 7 m
BT By b 1V3. 5sgq 12 m
BT B4y CCP—APO. 65—10P 19 m
BT EBA¥ 2 VVRS3. 5sq—4C [#%H] 13 m
BT EBA¥ 2~ 1V3. 5sq [%H] 13 m
BT BA¥ 2 CCP—APO. 65—10P [#%M] 11 m
BT BNy VVRS3. 5sq—4C 14 m
BT EBANEYy b~ 1V3. 5sgq 1 m
BT BNy CCP—APO. 65—10P 9 m
BB L 38sg—2C — 14sq—2C [&H] 1 fEifT
iEEGE T Y 3. 5—2C [#&H] 1 f&pT
iEEE T Y 3. 5—3C [#%H] 2 f&pT
SIEEE T Y3, 5—4C 2 fEAT
iEEGE T Y 3. 5—4C [#%H] 2 f&pT
iEEE T Y 14—2C [%MH] 2 fEpT
iEEE T Y2 2—2C [%H] 3 AT
Fofpesi T BAMEE M—J —6 0 (iEFEER) [KiH] 5 AT
WL B4 10P 2 fET
B L A 1 0P [#[HE] 9 &
EEsE L BN 10P 1 f&5PT
=T IVEER 50 #%
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T %= 4 R B E B e H S 1O~ AR ICR EE R T i B T \ THX5y ERLEF
T == fE Bl HAL | & 4 ) = oBl N ER
RS R E T AEMEH T R (1 8) K] 150 =]
T 1 =
Pelli B 1 CREARmIAR i T g = 1 18,998,439 | EEARHIEER LT T 1 A
H B S as I 1 &
EE L EBWN#EH E19 (1) 4 m
TRy 7 AR T BAMEE 200X 200 X 150 (WP) 1 T
TRy 7 AL BANEEL  200X200 X 1508 £ - flE S 1 f&pT
BT EBHNEHN CVV2sq—3C 4 m
BT BNy VVRS3. 5sq—2C 13 m
BT BNy R CVV2sq—3C 5 m
BT EBANEy b~ 1V3. 5sgq 6 m
BT BNy CCP—APO. 65—10P 6 m
BT BNy~ UTPO. 5—4P 6 m
EEsE L BN 10P 2 fET
o — 7 VIR 8 M
BRI T 1 =
PRk T CHMEREE TF X 1 2,430,074 | FRAEHELST T 1 &
AT 4T A = I L 2 A
BT BANZ7Y—72k%x UTPO. 5—4P 17 m
o — T VIR 4 M
BRI T 1 =
WETE = 1 129,184 | BAFAZAEMET W34 9 (65) 1 @
FEA%MET 2P50AF, 20AT 1 &
FRA%MET 2P50AF,/ 50AT 1 &
FasHiET B2—SC25 (1) [#%R) 100 m
FfRET BAEN VVR3. 5sq—2C [#%M] 104 m
FfET BAEN VVRS5. 5sq—2C [#%M] 104 m
FhTR = 1 118,671, 024
Sl (i L) = 1 12, 766, 000
Bl PR Y 1 45, 827, 000
— R S Sy 1 60, 078, 024
&t 489, 520, 000




